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FET HEERFE SRR S5 b RRRRERE RREEH
dtiEE 30 30 12
el 4 4 1
EFE 25 25 11
BEHE 11 10 1
A E 15 15 10
TIiA=Y 14 14 10
EEER 22 21 2
RE 23 20 12
AR 19 19 12
HER 22 22 0
BEER 39 39 16
FER 36 34 14
BRI R 30 29 22

HERER 77 75 50
Fine 35 35 18
ELE 17 17 11
AR 4 4 ?
BHE 19 19 9
T3 18 18 10
REHE 30 30 19
AR 36 34 16
LRl 42 42 30
EHE 76 12 60
=58 25 25 9
HEE 25 25 17
RARRF 42 42 37
K FF 78 78 52
EER 54 54 40
Z=RE 10 10 6

MELE 12 12 10
EWE 1 1 1
EiRE 1 1 1
fif] LU 2 33 33 8
IN=T 24 24 7
Il my=} 21 21 10
EER 6 6 4
EFIINE 20 20 9
ZIRE 11 11 6
SRR 1 1 1
fa [E 2 32 32 24
EEER 12 12 10
RIGE 10 10 9
N 10 10 5
AR 10 10 5
BiGE 14 14 12

EREBE 4 4 4
sk 0 0 0

&it 1,100 1,084 635




